Notes 7-6
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A photocopy of a receipt is 1.5 inches wide and 4 inches long.

By what percent should the receipt be enlarged so that its image is 2 times
the original? What will be the dimensions of the enlarged image?
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Graph the original figure and its dilated image.Then verify that the dilation is a

similarity transformation.

original (—6,-3), (6,~3), (6, 6)
image: (<2,-1), 2, -1), (<2,2)
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xy
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Show how to graph the original figure and its dilated image. Then verify that

the dilation is a similarity transformation.

original A(2,3), B(0, 1), C(3,0)
image: D(4, 6), F(0, 2), G(6, 0)

1y

xy
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Check Your Understanding

The dimensions of a regulation tennis court are 27 feet by 78 feet.The dimensions
of a table tennis table are 152.5 centimeters by 274 centimeters.

Determine whether a table tennis table is a dilation of a tennis court. If it is, what
is the scale factor? Explain.
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dilation n.
A transformation determined by a
center point C and a scale factor k.

When k > 0, the image P’ of P is the
point on CP such that CP’ = ||+ CP.
When k < 0, the image P’ of P is the

point on the ray opposite CP such
that CP’ = k- CP.

similarity transformation n.
when a figure and its
transformation image are similar

center of dilation n.
the center point from which
dilations are performed
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scale factor of a dilation n. reduction n.

the ratio of the length on an an image that is smaller than
image to a corresponding length the original figure

on the preimage

enlargement n.
an image that is larger than the
original figure
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Types of Dilations

Fill in the blanks.

Words A dilation with a scale factor greater than |

produces an ,or an image that is
larger than the original figure.

R

Symbols If k > 1, the dilation is an enlargement.

Example  AFGH is dilated by a scale factor of
3 to produce ARST. Since 3 1,
ARST is an of AFGH.
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Fill in the blanks.

Words A dilation with a scale factor between 0 and | produces
a ,an image that is smaller than the
original figure.

Symbols If 0 < k < |, the dilation is
a

Example ABCD is dilated by a scale factor of %

to produce WXYZ. Since 0 %

is a reduction of
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Determine whether the dilation from Figure A to Figure B is an enlargement
or a reduction. Then find the scale factor of the dilation.

a. b. Ty
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Determine whether the dilation from Figure A to Figure B is an enlargement
or a reduction. Then find the scale factor of the dilation.

A B.





